Данные для расчета посадки с зазором в подшипнике

                               жидкостного трения.

	Вар.
	D, мм
	L , мм
	RzD/ Rа , мкм
	Rzd/ Rа, мкм
	W, 1/с
	Μ х10-3, Н с/ м2
	R, н

	
	
	
	
	
	
	
	

	1
	200
	150
	2,5
	1,2
	50
	3,6
	40000               

	2
	120
	72
	2,5
	1,2       
	40
	15
	12000

	3
	40
	20
	       0,5
	      0,3
	200
	25
	715

	4
	60
	30
	        0,8
	        0,4
	150
	23
	1500

	5
	30
	36
	        0,4
	        0,3
	200
	20
	1300

	6      
	200
	140
	2,5
	1,2
	40
	4,0
	30000

	 7  
	100
	64
	         0,7
	        0,4
	60
	19
	8000

	8
	80
	80
	         0,8
	        0,5
	80
	20
	10000

	9
	100
	80
	         0,8
	        0,4
	90
	22
	20000

	10
	50
	40
	          0.8         
	        0,4
	115
	19
	1200

	11
	35
	46
	          0,5
	        0,4
	115
	18
	1300

	12
	175
	115
	2,5
	1,2
	100
	4
	40000

	13
	250
	165
	2,5
	1,2
	45
	4
	60000

	14
	250
	175
	2,5
	1,2
	45
	3,6
	50000

	15
	20
	14
	        0,25
	     0.13
	500
	23
	400

	16
	300
	180
	2,5
	1,2
	60
	3,6
	100000

	17
	300
	210
	2,5
	1,2
	50
	4
	150000

	18
	50
	30
	         0,8
	        0,4
	150
	19
	1000

	19
	280
	196
	2,5
	1,2
	45
	3,6
	80000

	20
	290
	203
	2,5
	1,2
	45
	3,6
	100000

	21
	50
	50
	        0,25
	        0,2
	80
	19
	5000

	22
	75
	45
	          0,7
	        0,3
	120
	19
	3500       

	23
	320
	210
	2,5
	1,2
	40
	4,0
	120000   =

	24
	270
	180
	2,5
	1,2
	60
	4,0
	95000

	25
	60
	40
	         0,5
	      0,25
	180
	20,0
	4500

	26
	250
	125
	2,5
	1,2
	80
	15
	20000

	27
	200
	200
	2,5
	1,2
	75
	15
	300000

	28
	250
	200
	2,5
	1,2
	50
	15
	300000

	29
	375
	300
	2,5
	1,2
	50
	4
	500000

	30
	500
	400
	2,5
	1,2
	35
	3,6
	1000000

	31
	350
	280
	2,5
	1,2
	70
	4
	500000

	32
	275
	220
	2,5
	1,2
	30
	19
	400000


